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F]ullMarks:80

Time :3 hours

Tle figures in tlrc margin indicate full morles

fortte Etestions

Ansuter either in English or in Assantese

Answer a.l,:ry tenfrom the following questions :

1x10=10
\o4r fl:f6fl?n fr COrcq ffi1gs{ frgI .

(a) Mention one objective of Indian fiscal
poliry.

qrs{ Trqrslen ft&q eh OzE$ bemq T-{r r

(b) What is repo rate of the RBI?

q-{GF fu mre< cqq' cb ft r
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(d)
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Write two characteristics of small_scale
industries.

qa S-rrn:r< $r ?<ftb fur r

Write two merits of GST.

csr r $r 1R<i ft+r r

What is demonetizatton? Mention one
positive effect of demonetization in the
Indian economy.

Rgm<t ftr smfu qafrBs Rpr<<m ebr
SINI-S gERErfl^TT<T 

I

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

fR qalT <rrqn tmffi 116r stTs D-sFrcr 3rq.t

+-{f fr 6sr6{r Ih orffi1fr{r 
I

Tertiary sector in India employs two
different kinds of people. Who are
they?

Elilvq cffiHet fbr Rfu T{6K {r1q$ ftqpr
p6q 160q34rS 6SFt?
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(g) Mention two objectives of the National
Competition policy of India.
q?rw qrfrs EffiNEq-s ftBq fi b?q-Ir
bra-q +-{r r

(h) State any two problems of public Sector
Enterprise of India.

sF{Br <rqq{r "{w t-cflrrF{ ft c+n* tt[ Hrrl
Uemq r-{ r

Answer any four from the following
questions : Sx4=2O
s-qg frsr erqq< ft cqrr* uRA< be( fin :

(a) Explain any five instruments of fiscal
policy in India.

srit\5{ {qz+"frT fter ft 6q6a1 ffi qrRqT

<1I3II T<II I

(b) Discuss the tools of monetar5r policy
of India.

stitBr {E.rfte{ qrREH{<1rr1rr T-{r I

(c) Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

T{rs @Grqro{ tqtrfu {Nft{ Ofu Tq,
fifu-srrqr q6ef paEp6q 6{Rr guDArq{E <ffii
F{I I

(e)

a
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(d) Point out the various labour policies
of India.

sFtsr R&a ltl ft&l1qqpftrRfitn r

Workers are exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your 6rnswer.

q.{irrfu rc1 rft€q{q erfu q{ I Efr q?

tMr srqq Fnfi? @FrFr t-e< wtqs, tfu
ftnr

What is agricultural mechanization?
Explain the role of technolory in Indian
agriculture.

TR{ nEftr<q ft r EKqr TRE sIeftEI{
pfr-o <rnm eo r

Discuss the role of small-scale
industries in Indian economy.

snqq qqfr&s qu tcrnm pft+t wrarwt

TitI I

Point out the main features of Indian
ta:< system.

EFtEit Tl 11irgt 1a f{ft?m{qwpffQfrit t
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4. Answer any four from the following
questions : 1Ox4=40

w frrr srXq< ft c+nqr uRtR Gsq ftfl :

(a) Critically discuss the role of agriculttrre
in the economy of India. 10

ErqA{ qcfi&e- TR{ yfrst tNrqrE{I{.r<rqz-{

qTFIID;{I T'{I I

Discuss the problems and remedies of
small-sca1e industries of India. $+$=10

EFr< Te tCrnqq< TPrfi \4FF rNlt{l-ft

t{rrq{<qrmu{ TTt I

What is service sector? Analyze the
performance of service sector of India
during post 1990's. 2+8=10

6{iil{e ft? >lto D.{I fiqs sFlst el-{t?ts<
qtfq{ Tarr{ R-crqq rq r

Explain the role of foreign investment
in the economy of India. 10

snqr qelfrfu BEfifts ftfuiton pfto onm

T<I I

Give an outline of the various
macroeconomic policies of India. 10

EFt\gir fiea fiffi qqfufu ft&q elre
qTCqFFOIIE iFII I
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(g)
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Give an assessment of the Government
policy towards foreign investment. 10
ffi$ Rfuipn ffiqs D-{+FT Afri qE

{-{ntrl qtrFrffFrr I

Point out ttre various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=19

"Ky IFftE{ ftBa qRur1< wpffi firn r

v1Rrq<fuvm rrz-{ frRffi fimifin r

(h) Explain the causes of low productivity
of tndian agriculhrre. Give some
suggestions to increase agricultural
productivity. 6+4=10
v1<Ql TRr As tqo[?T{ Ttrr{tp Trr<r,r F[ I

TRr tqffi{+rcr ffr-l qrzq fr3rta fimf
ftir r

(t) Discuss the role of public sector
industries in the economic development
of India. 10
qrrsq qf{k UarqE <rqq$ qe< Bermn
gft'+r wrnu-+r ov r

(j) What is agrarian structure? Oufline the

22A-3OOOl852

agrarian stmcture of India. 4+6=1O

fRflu {refi fr ? EFtEir Tfturs 1ftqftT s"FE
qTcEI?FflIESII 

I
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